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To compute the Fourier coefficients for a given harmonic, m,
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- The coefficients ay and by are computed as follows:
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™ USAGE

MU FAN1 1is available as a relocatable FORTRAN deck,
It is called by

CALL (FM,S,THZ,THS,NINT,A,B,C,BE),

where
FM = m, the number of the harmonic desired,
S = s
THZ = Gé, in radians,
THS = @7, in radians,
NINT = NINT’ the number of computing intervals desired,
A = ag ‘
B = b
C = Cmy

BE =B in radians.

The values of f (G) are obtained from a subroutine which FAN
calls for by the calling sequence

CALL FFAN (TH,F).
This subroutine, which must be coded by the suser, must

supply the value of F (=f(©)) for the argument TH (=) by the
evaluation of a function or by table lookup. "

CODING INFORMATION

MU FANl1 requires 237 words: of storage +'sin, cos, arcsin,
square root and FFAN subroutines,

Execution time is
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where tfunction is the time required for the function sub-
routine.
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F15 FOGURIER ANALYSIS SUBROUTINE

SUBROUTINE FANI{FM,S5,THZ,THS,NINT,A,B,C,BE)
PI=3.1415926536

FLN=NINT
CELTA=2.08P1/(S#FLN)
SUMA=(0.C

SUMB=0.0

CALL FFAN(THZ+2.Ca2Pl/S,F2)
CALL FFANITHZ,F3)

CC 10 T=14NINY

POS=1-1

THI=THZ+PCS#DELTA
ARG=FMeS#(THI-THS)

CALL FFAN{THI,F1)
SUMA=SUMA+F | #COSF (ARG)
SUMB=SUMB+F IaSINF(ARG]
SCP=S=*CELTA/PI
FF=0.5#(F2-F3)
FSTT=FMasS#(THZ-THS)

A=SDP# (SUMA+FF#CCGSF(FSTT))
B=SOP# (SUMB+FF#SINFLFSTT))
C=0.5#SQRTF{ArA+Q«B)
BE=—-ASINF{B/7(2.0sC))

IF (A) 12,13,13
BE=-BL~-(B/ABSF(B))«P]
RETURN




